Wave resistance of an isolated rudder at zero yaw and zero heel
NACA 00xx Profile, rectangular planform
Approximation of results computed with Michlet

Wave resistance Ry = sz LAw [Ty

Vv = Velocity
p = density of water
Awp. = Waterplanearea of rudder at intersection with the free surface
FN = Froude number based on chord length ¢
FN <0.38
X
_FN 77 f-Npeak
Cw %)-38%"“* [ESN( 2 0.38
FN >0.38
X
6o o 20

Cumae = 2205TC [{1- g *),

FNpeak =0.555+0.53[HC - 0.065(¢

-1.85[AR

X = Max(4.77-0.2[AR, 4.0)

—16[HC

f, =0.50g -5.113[HC® +5.672[HC?* — 2.504[HC + 0.5
f,>0

TC = thicknessratiot/c

AR = Agspect ratio of the submerged area

HC = submergenceratio h/c, HC =0

h = distance of top of rudder to the water surface, positive when submerged
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